EARAROBEEIERT — 2 N— IBISH —F

20145F9A11H (K) 10m55#1H

ol SR 3m%64# 6 Y5R3EK (xwlw | lmEmml - |5 5) wom 8
[A&4)]1#%:180,000H ~ 2#%&:36,00MH ~ 3#&:18,000H / 4%:0M / 5&%:0H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
7l 7| Sv2F4 774 3 5%2557:?% 1:(3_0).2 2222 [39.0| — | 2 | 468 %gggi (%12)
R:F5yok—2 BiF(—IXFLIO #9) | s
2 3| TF—FRKZ bk 3 ?g’_'éﬁﬂ” 1:(310).4 3-3-3-3 |39.0| — 1 486 g%% ;E(ﬁm)
R:ATONTY— BKI R T=Sas O lEm s
sl@l6| 77VTTRIL o3 | BRESE 1:(310>.6 =111 397 — | 3 | 420 E{i%%;%w
LTFIERFIAN B HAFIAVT O l=m =
411 PENTIX 3 | PR (12:311/.21) 5666 [38.7| — | 4 | 468 J;,'ifﬁ;ég (%)
QA hk—b BEFILAY R
5 o | LT A 4 3 5731_%05?*51 1:(321).5 7-7-7-7 | 38.5| — 5 400 E%E)IE-;?P(%QH
Li—FTa— BTFAIRY v > (-6) HEE {5—
6lglg|IT—t17ZU—% i 3 gﬁﬁﬁﬁu (17:2;3) 4-4-4-4 | 40.0| — 6 478 Eﬁéi (56#2)
LANRTNGZ BHYILRTIThHA b (-2) TI3LFT7—L4
715|5 | FTVUH—I i 3 ﬁ’%iﬁﬂ (12312/2% 6-5-5-5 | 40.3| — 7| 434 lﬁ;gé (5£42)
QiRT— hE—of BATUEL R ) | %35 s
8 435907718 i3 g%g%@m 1:(353).0 8-8-8-8 |39.4| — 8 | 432 ﬁ%g)ﬂ? é%ﬁ)«a/ .
LT RIA YT v NS B A-N—FT VX 2 | semis
@ 1—F—@&BIEf
1S=9r= 6,7,3,8,1,5,2,4
Pal=3F= 6,7,3,8,5,1,2,4
30—74— 6,7,3,8,5,1,2,4
41—+ — 6,7,3,8,5,1,2,4
[ RN
H OB 7 360 794K 3-7 110M B E 3-7 140M JEE 3-6-7 2004
8 B 7 100 6-7 190 B H 7-3 520/ JEH 7-3-6 1,300/
3 100M 3-6 200
6 110M

ABICOVWTRDTEEERROODE. TR LIV,




